# Journal of Nonlinear Mathematical Physics 

ISSN (Online): 1776-0852 ISSN (Print): 1402-9251 Journal Home Page: https://www.atlantis-press.com/journals/jnmp

## Some Examples of Algebraic Geodesics on Quadrics

A. M. Perelomov

To cite this article: A. M. Perelomov (2009) Some Examples of Algebraic Geodesics on Quadrics, Journal of Nonlinear Mathematical Physics 16:1, 1-5, DOI:
https://doi.org/10.1142/S1402925109000108
To link to this article: https://doi.org/10.1142/S1402925109000108

Published online: 04 January 2021

# SOME EXAMPLES OF ALGEBRAIC GEODESICS ON QUADRICS 

A. M. PERELOMOV<br>Institute of Theoretical and Experimental Physics<br>117259 Moscow, Russia<br>perelomo@dftuz.unizar.es

Received 3 March 2008
Accepted 4 April 2008


#### Abstract

In this note we give the conditions for the existence of algebraic geodesics on some two-dimensional quadrics, namely, on hyperbolic paraboloids and elliptic paraboloids. It appears that in some cases, such geodesics are the rational space curves.

Keywords: Integrable systems; two-dimensional quadrics; algebraic geodesics.


## 1. Introduction

The problem of geodesics on the second order surfaces (quadrics) is a classical one. For a twodimensional ellipsoid, an explicit description of geodesics was given by Jacobi [4] and Weierstrass [8]. For other quadrics, this problem was considered by Halphen [2] and Hadamard [3] (for the modern exposition of this topic, see [5-7]).

It is well known that the generic geodesic on a two-dimensional quadric is a transcendental space curve. However, in some cases, this geodesic becomes an algebraic space curve. Hence, such geodesics may be considered as the complete intersection (or a connected component of the intersection) of the two-dimensional quadric with the algebraic surface in the space $\mathbb{R}^{3}$.

In the paper [1], an approach was proposed for the description of such surfaces in the case of two-dimensional ellipsoid and some of them were described explicitly.

In this note we give the conditions for the existence of algebraic geodesics on other twodimensional quadrics, namely, on hyperbolic paraboloids and elliptic paraboloids. It appears that in some cases, such geodesics are rational space curves.

## 2. Hyperbolic Paraboloid

The equation for the hyperbolic paraboloid in the three-dimensional Euclidean space $\mathbb{R}^{3}$ can be expressed in the form

$$
\begin{equation*}
\frac{x^{2}}{a}-\frac{y^{2}}{b}-2 z=0, \quad a>0, \quad b>0 \tag{1}
\end{equation*}
$$

Following [3] let us express coordinates $x, y, z$ in terms of elliptic coordinates $\lambda, \mu$ :

$$
\begin{align*}
& x^{2}=-\frac{a(\lambda+a)(\mu+a)}{a+b},  \tag{2}\\
& y^{2}=-\frac{b(\lambda-b)(\mu-b)}{a+b},  \tag{3}\\
& 2 z=-(\lambda+\mu+a-b), \quad \lambda<-a, \quad \mu>b . \tag{4}
\end{align*}
$$

In these coordinates, the element of length takes the form

$$
\begin{equation*}
d s^{2}=\frac{\lambda-\mu}{4}\left[\frac{\lambda d \lambda^{2}}{(\lambda+a)(\lambda-b)}-\frac{\mu d \mu^{2}}{(\mu+a)(\mu-b)}\right] \tag{5}
\end{equation*}
$$

and the geodesic is given by the equation

$$
\begin{equation*}
\int d \lambda \sqrt{\frac{\lambda}{(\lambda+c)(\lambda+a)(\lambda-b)}}=\int d \mu \sqrt{\frac{\mu}{(\mu+c)(\mu+a)(\mu-b)}} \tag{6}
\end{equation*}
$$

where a constant $c$ characterizes the geodesic.
Recall that on the hyperbolic paraboloid there are two families of straight lines, and any such line is geodesic. Moreover, two principal parabolas (the intersection of planes $x=0$ and $y=0$ with paraboloid) are also geodesics.

As it was shown in [3], if $c \neq a$ or $c \neq-b$, then $\mu \rightarrow+\infty$ as $t \rightarrow+\infty$ or $t \rightarrow-\infty$ and any geodesic tends to the straight line given by the formulae

$$
\begin{align*}
x & \sim \pm \sqrt{\frac{q a}{a+b}} \mu, \\
y & \sim \pm \sqrt{\frac{q b}{a+b}} \mu,  \tag{7}\\
2 z & \sim(1-q) \mu, \quad q=\mathrm{const}=\lim _{t \rightarrow+\infty} \frac{|\lambda|}{\mu} .
\end{align*}
$$

The main result of this note is the following theorem.
Theorem 1. If $c=a$ and $\sqrt{\frac{a+b}{a}}$ is a rational number, the geodesic defined by Eq. (6) is an algebraic curve.

Proof. In this case, the elliptic integral in (6) reduces to a more simple form:

$$
\begin{equation*}
\int d \lambda \frac{1}{\lambda+a} \sqrt{\frac{\lambda}{\lambda-b}}=\int d \mu \frac{1}{\mu+a} \sqrt{\frac{\mu}{\mu-b}} \tag{8}
\end{equation*}
$$

The integrand $I$ has two poles at $\lambda=-a$ and $\lambda=\infty$ :

$$
\begin{aligned}
& I \sim \frac{1}{r(\lambda+a)} \quad \text { as } \lambda \rightarrow-a \\
& I \sim \frac{1}{\lambda} \quad \text { as } \lambda \rightarrow \infty
\end{aligned}
$$

Here

$$
\begin{equation*}
r=\sqrt{\frac{a+b}{a}} \tag{9}
\end{equation*}
$$

It is easy to see that if $r$ is a rational number $r=p / q$ (for $p$ and $q$ integer), then the integral in (8) is the logarithm of an algebraic function.

In fact, the integral in (8) can be calculated explicitly by means of the standard change of variables $(\lambda, \mu) \rightarrow(\xi, \eta)$ :

$$
\begin{equation*}
\lambda=\frac{b / a}{1-\xi^{2}}, \quad \mu=\frac{b / a}{1-\eta^{2}} \tag{10}
\end{equation*}
$$

In this way we come to the algebraic equation

$$
\begin{equation*}
(1-\xi)^{p}(1-\eta)^{p}(r+\xi)^{q}(r+\eta)^{q}-c_{2}(1+\xi)^{p}(1+\eta)^{p}(r-\xi)^{q}(r-\eta)^{q}=0 \tag{11}
\end{equation*}
$$

where $c_{2}$ is a constant of integration. Changing variables $(\xi, \eta)$ for $(x, y)$ and using Eqs. (2) and (3) we get the equation

$$
\begin{equation*}
F(x, y)=0 \tag{12}
\end{equation*}
$$

where $F(x, y)$ is a polynomial in $(x, y)$. Hence, this equation defines an algebraic plane curve. The variable $z$ may be found now from (1) or (4). Then we obtain an algebraic space curve.

So, we proved that our geodesic is an algebraic space curve.

Note that our geodesic asymptotically approaches the principal parabola $(x=0)$ as $t \rightarrow \infty$ and a straight line as $t \rightarrow-\infty$. It also has the property: $x>0, y\left(t_{0}\right)=0, y>0, t>t_{0} ; y<0, t<t_{0}$. Note also that $(\lambda+a) \sim \mu^{-r}$ as $\lambda \rightarrow-a, \mu \rightarrow \infty$.

Example 1. Let us consider in more detail the case $a=1, b=3, r=2, p=2, q=1$. Taking $c_{2}=1$ in (11) we get the algebraic equation for new variables $\xi, \eta$

$$
\begin{equation*}
(1-\xi)^{2}(1-\eta)^{2}(2+\xi)(2+\eta)-(1+\xi)^{2}(1+\eta)^{2}(2-\xi)(2-\eta)=0 \tag{13}
\end{equation*}
$$

Expanding the left-hand side we get

$$
\begin{equation*}
(\xi+\eta)\left(\xi^{2}+\eta^{2}-\xi \eta-3\right)=0 \tag{14}
\end{equation*}
$$

Using Eqs. (2), (3), and (14) we obtain simple expressions for $x$ and $y$ :

$$
\begin{equation*}
x^{2}=\frac{1}{4} \frac{2-\zeta}{\zeta+1}, \quad y^{2}=\frac{9}{4} \frac{\zeta^{2}}{(2-\zeta)(\zeta+1)}, \tag{15}
\end{equation*}
$$

where

$$
\begin{equation*}
\zeta=\xi \eta, \quad-1<\zeta<2 \tag{16}
\end{equation*}
$$

Eliminating $\zeta$ from these equations we get a relation between $x$ and $y$

$$
\begin{equation*}
x\left(x-\frac{y}{\sqrt{3}}\right)=\frac{1}{2} \quad \text { or } x\left(x+\frac{y}{\sqrt{3}}\right)=\frac{1}{2} . \tag{17}
\end{equation*}
$$

From this we obtain a parametrization of our geodesic:

$$
\begin{equation*}
x=\frac{\tau}{2}, \quad y=\sqrt{3} \frac{\tau^{2}-2}{2 \tau}, \quad z=\frac{\tau^{2}-1}{2 \tau^{2}} . \tag{18}
\end{equation*}
$$

Hence, the geodesic tends to the straight line in the plane $z=1 / 2$ as $\tau \rightarrow \infty$ (in accordance with [3]), and to the principal hyperbola $(x=0)$ as $\tau \rightarrow 0$.

Observe that if

$$
\begin{equation*}
\frac{x^{2}}{1}-\frac{y^{2}}{3}=2 z \tag{19}
\end{equation*}
$$

we have

$$
\begin{equation*}
(\lambda+1) \sim-\frac{1}{\mu^{2}} \quad \text { as } \mu \rightarrow \infty \tag{20}
\end{equation*}
$$

In a more general case

$$
\begin{equation*}
\frac{x^{2}}{1}-\frac{y^{2}}{b}=2 z, \quad b=n^{2}-1, \quad n \text { is integer } \tag{21}
\end{equation*}
$$

we have

$$
\begin{equation*}
(\lambda+1) \sim-\frac{\alpha_{n}}{\mu^{n}}, \quad \text { where } \alpha_{n} \text { is constant. } \tag{22}
\end{equation*}
$$

From this it follows that

$$
\begin{equation*}
x^{2} \sim \frac{\alpha_{n}}{n^{2}} \frac{1}{\mu^{n-1}}, \quad y^{2} \sim\left(n^{2}-1\right) \mu, \quad x y^{n-1} \rightarrow \text { const. } \tag{23}
\end{equation*}
$$

## 3. Elliptic Paraboloid

The basic formulae for this case are similar to the formulae of previous section, so we give just few ones. The equation for elliptic non-degenerate paraboloid in the three-dimensional Euclidean space $\mathbb{R}^{3}$ has the form

$$
\begin{equation*}
\frac{x^{2}}{a}+\frac{y^{2}}{b}-2 z=0, \quad a>b>0 \tag{24}
\end{equation*}
$$

In elliptic coordinates $\lambda$ and $\mu$, we have

$$
\begin{align*}
& x^{2}=-\frac{a(\lambda+a)(\mu+a)}{a-b} \\
& y^{2}=-\frac{b(\lambda+b)(\mu+b)}{b-a}  \tag{25}\\
& 2 z=-(\lambda+\mu+a+b), \quad \lambda<-a, \quad-a<\mu<-b \tag{26}
\end{align*}
$$

The expression for the element of length is of the form

$$
\begin{equation*}
d s^{2}=\frac{\lambda-\mu}{4}\left[\frac{\lambda d \lambda^{2}}{(\lambda+a)(\lambda+b)}-\frac{\mu d \mu^{2}}{(\mu+a)(\mu+b)}\right] \tag{27}
\end{equation*}
$$

and the geodesic is represented by the equation

$$
\begin{equation*}
\int d \lambda \sqrt{\frac{\lambda}{(\lambda+c)(\lambda+a)(\lambda+b)}}=\int d \mu \sqrt{\frac{\mu}{(\mu+c)(\mu+a)(\mu+b)}} \tag{28}
\end{equation*}
$$

where a constant $c$ characterizes the geodesic.
Theorem 2. If $c=a, r=\sqrt{(a-b) / a}$ is a rational number, the geodesic defined by $E q$. (28) is an algebraic curve.

Proof. It is completely analogous to the proof of Theorem 1.

Example 2. In the simplest case $r=1 / 2$, we have

$$
\begin{equation*}
\frac{x^{2}}{4}+\frac{y^{2}}{3}-2 z=0 \tag{29}
\end{equation*}
$$

Taking $c_{2}=1$ in (11) we come to the equation

$$
\begin{equation*}
(1-\xi)(1-\eta)\left(\frac{1}{2}+\xi\right)^{2}\left(\frac{1}{2}+\eta\right)^{2}-(1+\xi)(1+\eta)\left(\frac{1}{2}-\xi\right)^{2}\left(\frac{1}{2}-\eta\right)^{2}=0 \tag{30}
\end{equation*}
$$

After simplifications we get

$$
\begin{equation*}
(\xi+\eta)\left(\xi^{2}+\eta^{2}-\xi \eta-\frac{3}{4}\right)=0 \tag{31}
\end{equation*}
$$

This equation implies the following equations for coordinates $x$ and $y$ :

$$
\begin{equation*}
\frac{x^{2}}{4}=16 \frac{\zeta+\frac{1}{4}}{\zeta-\frac{1}{2}}, \quad \frac{y^{2}}{3}=9 \frac{\zeta^{2}}{\left(\zeta-\frac{1}{2}\right)^{2}} \tag{32}
\end{equation*}
$$

where

$$
\zeta=\xi \eta, \quad-\frac{1}{4}<\zeta<\frac{1}{2}
$$

Eliminating $\zeta$ from these equations we obtain a simple relation between $x$ and $y$ :

$$
\begin{equation*}
\frac{y}{\sqrt{3}}=\frac{x^{2}}{32}-1 \tag{33}
\end{equation*}
$$

So, our geodesic is the intersection of the elliptic paraboloid (29) with the parabolic cylinder (33).
Note that in both above examples the geodesic is a rational space curve. It would be interesting to find other examples of rational geodesics on hyperbolic and elliptic paraboloids.

## Acknowledgments

The paper was completed during my visit to Max-Planck Institut für Mathematik, Bonn. I would like to thank the staff of this Institute for hospitality.

## References

[1] Yu. N. Fedorov, Algebraic closed geodesics on a triaxial ellipsoid, Reg. Chaot. Dyn. 10(4) (2005) 1-23.
[2] G.-H. Halphen, Traité des Fonctions Elliptiques et de Leurs Applications, T.II (Gauthier-Villars, Paris, 1888).
[3] J. Hadamard, Sur la forme des lignes géodésiques á l' infini et sur les géodésiques des surfaces réglées du second ordre, Bull. Soc. Math. France 26 (1898) 195-216.
[4] C. G. J. Jacobi, Note von der geodätischen Linie auf einem Ellipsoid und den verschiedenen Anwendungen einer merkwürdigen analytischen Substitution, JRAM 19 (1839) 309-313.
[5] Ju. Moser, Geometry of Quadrics and Spectral Theory, in The Chern Symposium 1979 (Springer-Verlag: New York, Heidelberg, Berlin, 1980), pp. 147-188.
[6] Ju. Moser, Integrable Hamiltonian Systems and Spectral Theory (Lezioni Fermiane: Scuola Normale Superiore, Pisa, 1983).
[7] A. M. Perelomov, Integrable Systems of Classical Mechanics and Lie Algebras. Constrained systems, Preprint ITEP No. 116 (in Russian) (1983).
[8] K. Weierstrass, Über die geodätischen Linien auf dem dreiaxigen Ellipsoid, Monatsber. Akad. Wiss. zu Berlin (1861) 986-997.

